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Answer either in English or in Assamese

1. Answer the following questions 1x4=4
oo Ml NI Teq ol

(a) Who proposed ‘Theory of Biogenesis’?
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(b) Who discovered bacteria?
RCERA (P TRk P ?

(c) What type of association is found between algae and fungi of
a lichen?
PO AT (XT3 Y (S NG [ 4797 TR (AIRGCeT (AT AT ?
(d) Which group of plant kingdom is called first vascular land

plant?
SfeW G (FINCGT & 223 ez el [if¥E NS (2iRr Sfew Jfer

(PRI W ?




Answer the following questions in brief 2x3=6
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(a) Write the economic importance of lichen.
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(b) Why rhizophores of Selaginella is considered as root?
foelfGeeie 1232 TR o3 I o1 oicly 341 27 ?

(c) Why viruses are considered as intermediate entity between
living and non-living?
©I39MeF 7 G Y T NG FRES B0 411 2% ?

Answer any three of the following questions 5x3=15
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(a) With neat labelled diagram, describe the male and female
reproductive structure of Chara.
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(b) Write a note on sexual reproduction of Mucor.
‘ISP’ T (T e [T 9o (Gt forat |
(c) Write an account on the affinities of Gnetum with the
Angiosperms.
77 Tfens e Gnetum I AR [Ecy @b Sicets- fordr |
(d) Mention the merits and demerits of Bentham and Hooker’s
system of classification.

‘(N O PRI A ARGT SACANST S SRR Seard 74|
Answer the following questions (any two) 10x2=20
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(a) Describe briefly about Lytic and Lysogenic cycle of Virus.
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(b) Give an account on the classification of Algae on the basis
of Fritch system of Classification. 10
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(c) What is fructification? With labelled diagram describe the
various types of fructification found in the class
Ascomycetes. 2+8=10
FIHRPCFOA F1F (1T ? ARFIS Bz oo 7o avewizh

o,
2517288

AT Ao ofies FRDBRFAb KAy 7ot 1 |
(d) What is stele? With neat labelled diagram describe the steler

evolution in Pteridophytes. 2+8=10
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